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PUBLIC ADMINISTRATION (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGILISH, :

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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WUis—A / SECTION—A

1. F=fafaa § 4 Td% 999 1 SW AT 150 Wl § ST
Answer the following questions in about 150 words each : 10x5=50

(a) ‘FORETE A AIBIAT % GG, Tgd fEEwIg g S ¢ (Frwa dio @) fevf
it

“Taylorism is considered very controversial despite its popularity.” (Stephen
P. Waring) Comment.

(b) ‘A% TR, TSHI 1 Arefaed # Y@ egae R, Fwe amie wike d@d §17
(SFTes Tho hewt Td WA Tocgo WgeR) =] shifsg |

“Public Administration is the translation of politics into reality that citizens
see everyday.” (Donald F. Kettl and James W. Fesler) Explain.

(c) ‘FiEE WTEA H AW A ST WAl & AT FHEINE! ok rHAW, ufd wE-fFeae #iR
Irgafera Hi a1 R whar &1 e Hif

“Morale can drive an organization forward or can lead to employees’
discontent, poor job performance and absenteeism.” Examine.

(d) ‘st fem 6w Y S i wEde ofR 4fE T g % Wy ST al
pe= e e o e o e o 2 O I A M o i A e

“The autonomy of Public Corporations raised a great debate about their
internal working and external relation with the Ministers and the
Parliament.” Discuss.

(e) ‘‘Fhava wEEl % wENE, WEISEh oEdan weed AR SuEl WOE, s
TUSTHF HNATS 6 G FIg A Haeen & 817 Rt Hifstl

“In spite of certain advantages, Social Audit arrangements have mostly
been ineffective because there is no legal provision for punitive action.”
Comment.
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2. (a)

(b)

(c)

3. (a)

(b)

““erer® AR A1 PR X S BRI Y Ee # weruehl % g STgIYT hEee SR 6
A fowm Atewl =1 9via = &1 gdeor i)

“Douglas McGregor’s Theory X and Theory Y describe two contrasting
models of workforce motivation applied by managers in an organization.”
Examine.

“To1 Wik TG 3 39 IS <l U SRl aT greshivn ot TRfiargds SR fed
B, a1 30 THS A frweaw w9 § Sied gU SUETRd favgd IR WeH A % gR {9 @
g s ¢ (Wierem o it w wige e i) gEme Hifm)

“The New Public Administration has seriously jolted the traditional
concepts and outlook of the discipline and enriched the subject by
imparting wider perspective by linking it closely to the society.” (Felix A.
Nigro and Lloyd G. Nigro) Elucidate.

“wemaf Ty w1 S aleR wwmee a6t qurfre afwfm @ g1 SR s
EAIELY

“The central concern of Administrative Law has been the legal limitation of
administrative discretion.” Give reasons.

“gfy fafmme @ ... widn @Wad @, 9 3 afd weegel Aifd-Fafen w9 q qen
<A1, I 1R < o Feae feaes # iR Hehe Yer R e 1 (wea) whiemn i)

“If the Regulatory Commissions .... are wholly independent, they are
completely irresponsible for the doing of very important policy determining
and administrative work .... on the other hand, to rob the commissions of
their independence is seriously to menace the impartial performance of
their judicial work.” (Cushman) Examine.

“gured w1 Y wEETteR % ufd weE iR fftmer e, diea w1 geeee,
qraRfar < gt 3t e JemEe o amar w6 g S 217 (S 3TET) 36 U
RISl W SR Y 3R TG -V % TN Yad YIATEA < HYSUS] hl GHICEHICHS TUE
hifst |

20

15

15

20
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“Good governance is ensuring respect for human rights and the rule of law,
strengthening democracy, promoting transparency and capacity in Public
Administration.” (Koft Annan) In the light of the statement, critically
examine the criteria of good governance as provided by United Nations and
Nayel Al-Rodhan. 15

(¢) “‘wmen R faurEh fREe e g € @ e 6 S8 dm =ifew)” oo hifs

“The legislative control over administration is not as effective as it ought to
be.” Comment. 15

4. (a) =% T HIZSA | g Nl i al STETEI— 6 T TR 9o IareT % g TeR-
% MR W afeia fomem o)’ 39 e % T § Yerueh efen (Bre) wiea & faeem
Hfvw| T wiea wwenge 75 wH-d feh a=@im R

“Blake and Mouton defined leadership styles based on two
dimensions—concern for people and concern for production.” In the light of
the statement, discuss the Managerial Grid Model. Explain with reason
which one of the styles is the best. 20

(b) “‘HU-IFhEE Ao w1 fomr Sete-AfmaHiR Hige i Uiafea % w9 # fRn T
21" feouft shifsm)

“Bureau-Shaping Model has been developed as a response to the

Budget-Maximizing Model.” Comment. 15

(c) “‘Tafe@ T, TS IR IR % fores R ) GRaT WeM e a9l ST &\ IHId el 6
ARAIAS 201 Bl aaiad! HA T G Y 3761 a1 81’ I IS0 Gfed 36 HU
e Hifs)

“Civil society performs a key role in defending people against the State and
market and in asserting the democratic will to influence the State.” Analyze
the statement with suitable examples. 15
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©uve—B / SECTION—B

5. fFAfaRag 7 o US® T H I A 150 TRl N

Answer the following questions in about 150 words each : 10x5=50

(@) “wREe B Jaq afed e 7 ST g1 et i)

“Training is considered as paid holidays.” Comment.

(b) ‘Tt womeH aAderewen W i wEt F Yer w71’ e Sl

“Public borrowing produces different effects on the economy.” Examine.

(c) mmmﬁmﬁ%wﬁuﬂ?ﬁwﬁwﬁmwﬁm@uﬁm
TEul IR WA S &1 feeuoft <hifsm

“Self-Help Groups are considered as one of the most significant tools to
adopt participatory approach for economic empowerment of women.”
Comment.

(@) “Ffom  oglt i oft f5 e geEA % gorors e dF et <l s wesd €1
foamm i)

“Riggs observed that three ‘trends’ could be discerned in the comparative
study of Public Administration.” Discuss.

(e) ‘T Afi-Fufor § ‘cehamaare’, ‘Fhwaftae % faata gra g1 wdem ATl

“In Public Policy Making, ‘Rationalism’ is the opposite of Incrementalism’.”
Examine.

6. (¢) ‘s fost A aRyre Wies 1 Yo FW F HH T AW e Bl S ®9 W wifda fopam

o)’ ot sRifs)

“Fred Riggs continuously changed his theory in order to create the perfect

modcl.” Comment. 20
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(b) ‘T w1 faem s uigw 3 & deat f we @ ¥ qu C‘omg on mn R R =m
AR T faeaw e S| (ATewiT dE) T8 Y b T W -
YT T G AR &0 AT

“The idea of development stands like a ruin in the intellectual landscape”
and “it is time to dismantle this mental structure”. (Wolfgang Sachs) In the
light of the statement, critically examine the anti-development thesis. 15

(c) “‘gE1 TR, @i weTEE § qarar oft grefiar et 817 Sugw Seew wid 39 W
1 TRETT hife |

“Information Technology brings efficiency and transparency to Public
Administration.” Examine the statement with suitable examples. 15

7. (o) ‘TsEE il g WiEe i S W@ Sy §, S tsa wafy sl s i wi %
o seame war 817 3@ FeF F e HINT qer S TR A 3R W ISR
hifsm)

“Fiscal policy and monetary policy are the two tools used by the State to
achieve its macroeconomic objectives.” Examine the statement and point
out the differences between the tools. 20

(b) *TsaTe HeAhA 6 IUAIT 1 <had w0 HHeTE % o 3w W ¥ W FU
TR H, WA H e Houish i STEwEeRarel &1 favemy g

“A central reason for utilization of Performance Appraisal is performance
improvement of the employees.” In the light of the statement, analyze the
needs of Performance Appraisal in an organization. 15

(c) ““auEn U wieant SR AefeEen R Tk waieh UsT % ofi" gd dger o e R
ISR W61 el W B TSI SRl e | o W A A fag Al

“The problem is to achieve the right balance between a competitive market
economy and an effective State : markets where possible; the State where
necessary.” Justify your answer. 15

8. (a) “‘TrourEA-snenia wSted A gHm K Foil afom’ wse % aw Ffea ') 39 Fum % wwmw
Frearea-anenia =52 % qwl @1 ghEn S|

“The key to understanding performance-based budgeting lies beneath the
word Tesult’” In the light of the statement, examine the elements of
performance-based budgeting. ' 20
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(b) “Wﬁﬁmﬁaﬂwﬂmaﬂtaﬁmﬁm%l”mﬁmm
meﬁﬁ%mﬁﬁﬁﬁw%@@%mawﬁmﬁw
e wrEur o fafga R

“Disciplinary action may be informal and formal.” Explain and point out the
provisions made in the Constitution or Statute to check the misuse of

power to take disciplinary action. 15

() ‘e S T TR SRETH S et o e st geg St
fopa s wshan &1 gedE HifS|

“The term ‘work study’ may be used in narrower and wider senses.”
Eluocidate. 16

* K ok
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